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PART - 11

PHILOSOPHY — HONOURS
Paper - III :

( NEW SYLLABUS & OLD SYLLABUS )

Duration : 4 Hours ] [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

The figures in the m’argin indicate full marks.
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( NEW SYLLABUS )

Answer Question No.1 and any five from the rest.

1 72 2% 8 O (¥ (@ Ainfo oea Ted fad

g o Answer any five questions ( Answer each question within 150 words ) :
5x5=25
@ (@ TS 2rra Tew fim (S8 seo *MHd Noay T AIACS T )+
a) What is the distinction between knovﬂedge and opinion, according to

Plato ?

CRICOTE WO W @ SfoNred My N I 2
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b)

c)

d)

g °

h)

j)

Explain Aristotle’s doctrine of Form and Matter.

PR 6 TTOHAT FAE SNfTOheTa ©F AT I |

Discuss Descartes’ method of universal doubt.

CWWWW’R‘WWWWI

How many types of ideas are recognised by Descartes ? Briefly discuss.

TS FOAP A NP FEH 2 FALTH A FFA |

Briefly discuss the characteristics of Monads as admitted by Leibnitz.

sTEafee fbestaoa WaiiEiafT AT SETs 3% |

How does Locke refute the existence of Innate ideas ?

WW@WWW‘WWWW?

On what grounds does Berkeley rejéct the distinction between primary

and secondary qualities ?

@H @ Yo fofete e 0 84 ¢ N9 ST 04 AL TP TR0 2

How does Hume distinguish between Impression and Ideas ?

BET FOR F9 ¢ YRNT T LI IR ?

Is Berkeley’s subjective Idealism solipsistic ? Give reasons for your

answer.

IR AENS TRAW & JRL T ? AR TEER 7908 I i |

Distinguish between Analytic and Synthetic judgments, after Kant.

IO PR IR RCATT 8 MCITT TRYRACTH 0 AL 36 |
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Answer any five questions ( Answer each question within 600 words ) : 5x15=175

@ @ b orea Tex W (Teq woo AR Tr AT IS WX ):

2.

What according to Plato is knowledge proper ? How does he argue against the
view that sense-perception is knowledge proper ? 3+ 12
(PR WS AP W INE ICT 7 RN dorRE oPe W «¥ Wow Reera ol R aw
e o @ 2 '

How does Descartes arrive at the principle, 1 think, therefore I am’ ? Explain the
implications of this principle. 15
wre Pe oy fowr R, ez Sy oy’ @ e Toie 2@ 2 @¥ Eibe
RS wles fF, anan 3% |

Explain and examine Spinoza’s theory of substance. Does he uphold the theory

of ‘one’ at the expense of ‘many’ ? Give reasons for your answer. 12+ 3
PorTeT w31 STERE TeAmb e I I R R w' Rfwa ‘ev'@ ewe
weafeE™ 2 wiemE Tewa Foew e |

What does Leibnitz mean by the principle of ‘pre-established Harmony’ ? What is

the importance of this principle in his Metaphysics ? 15

AZIG ‘o -fofbs oM FeTs & @I 2 O SRy g Afex ez F 2

Why is Locke considered to be a representative realist ? Is his representative
realism consistent with his concept of Primary qualities ? 8+7
e eifowa AN @ TW (B 2 YN B FNF -9 WS A O el awam
e spifesef
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j B

Give a critical account of Berkeley’s thesis “Esse est percipi”. 15

rufEe eers-AEeT — T @B Afefha e anm s

On what grounds does Hume deny necessary connection between cause and
effect ? Discuss. : ; 15
@ @ oo RN TR0 ¢ IR @ ARFFOR F9E THIR IFEF 2 A

IEA|

What is God, according to Spinoza ? Explain, after Spinoza, the relation between
God and the World. 10+5
fFoitreT e Shyw 5 2 Porirema o SRl R @3 SN T AT FFEA |

Consider Descartes’ doctrine of substance. How does Spinoza develop Cartesian
dualism in monism ? 8+7
CPICSA HAISF WETBA] S | PoEren FIOE (PIdd (aedm (AF SR TS
o

What is the law of Sufficient Reason ? Why does Leibnitz consider this World the
best of all possible Worlds ? 4+11
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Answer any five questions :
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( OLD SYLLABUS )

Answer Question No.1 and any five from the rest.

1 7¢ o @ o) (T (I A6 oraw Ted v |

Q@ W M6 A Teg e -

a)

b)

c)

d)

g)

What, according to Plato, are the marks of knowledge ?

cmmmﬂaﬂq@%ﬁsﬁw

How many types of ideas are recognised by Descartes ? Mention their

names and give examples.

S T© L Gl P FEF 2 HRIPR AW o137 |

Explain Spinoza’s conception of substance and attribute.

PorETeT 747 @ S Qe T FHA |

What is meant by Interactionism ?
fog-aifsfaeamm w1 aE 2
What are the different kinds of monads admitted by Leibnitz ?

sRafer hesiiq e e eimcen S S 2

How does Locke distinguish between primary and secondary qualities of

matter ?

BTG W AT B9 8 (el @ TR N 71 PO 21 FEA ?

On what grounds does Berkeley reject abstract ideas ?

PR (1 I ARIET AT RS qrenefer 6 30 2
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h) How does Hume distinguish, between ‘propositions concerning relations

of ideas’ and ‘matters of fact’ ?

YR TEF [AEIF B 8 A oAl 7AES 599 Wy 8 fFei@ ende
ey s 2

i) Following Kant elucidate the distinction between analytic and synthetic
judgements ?

FFHCE AP I HCATF @ [T I [y 2A19 o7 e |

1) Why does Kant believe that space and timé are a priori forms of
intuition ?

T (B FYPT FA0oT (@ (™1 @ I ZeT SO ofd: e w2

Answer any five questions. 5% 15 =75

@ @ #i5fo o Teq )

Determine the fundamental difference between Plato and Aristotle.

CHTT @ WIFRPBOETa Wey S5 o1 fsiole e |

What is the criterion of truth according to Descartes ? How does he arrive at this

criterion ? Discuss critically. 510
(ISR T Ao TAw & 2 fof feeim ug TAmes ToAe 2aERE 2 FETbARE
BT FLEA |

Explain how Descartes proved the existence of the external world. 15

1S, fPela ARIGEITeT ¥y AW FE, © AN FE |

Discuss the theory of Knowledge as accepted by Spinoza. ; ' 15
AR TS TP B TIHOF A F | '
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1
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Give a comparative estimate of theory of ideas as developed by Locke, Berkeley
and Hume. 15

T, AP 8 ROW LIRS GTAeTE S P |

What are the different degrees of knowledge according to Locke ? In spite of
being an empiricist why does he consider sensitive knowledge to be the lowest
degree of knowledge ? 10+ 5
7F-@q o Wit [fon waefa o fo 2 wfcweritt 6w e o @ EfFavera wme
R SR @ T NP TR0 2 ‘

Do you consider Berkeley to be subjective idealist ? If so, is Berkeley’s subjective

idealism solipsistic ? Discuss in detail. 57:10
IFETE 6 ARTS ORAM T SfefRe 1 W 2 U W, ORET AFE WGETS CRAH
o ue Eam 2 REfaeei@ e 365 |

How does Hume explain the relation between impression and idea. Discuss the
main objections against such explanation. 10+5
freim ROY @ ¢ R TEH AR IEF 2 @8 AR w4 weifesiE e
P |

Distinguish between a priori and a posteriori judgments. How are synthetic
a priori judgements possible ? Discuss after Kant. Explain the nature of the
proposition 7 + 5 = 12, 2+8+5
»o: e @ 1oy SRR W& AL & 2 MeEs o B swyre fFom 781 2
IO SPIEel I 1Y 1 @R 6Ga ofpls i % |

Discuss the main problem of Kant’s ‘critique of pure Reason’. "

IIHR fEbe o Pren fem — a3 7 Tem Rafresi@ SEm w6 |




